
Lösungen – Namenszwillinge – gleich und doch so verschieden

= Bob der 
Baumeister – 
Bob Marley 

= Olaf (Eiskönigin) – 
Olaf Scholz

= Thomas Anders – 
Thomas Gottschalk

= Harry Styles – 
Harry Potter

= Bill Kaulitz – 
Bill Gates

= Peter Fox –
Peter Pan 

= Lena (und Lisa) 
– Lena Meyer-
Landrut

= Schröder Atze – 
Schröder Dennis 

= Lionel Messi – 
Lionel Richie

= Max Giesinger –
Max (und Moritz)  

= Rocky (Balboa) – 
Rocky (Paw Patrol)

= Heidi Klum –Heidi

= Otto Walkes – 
Otto (Benjamin 
Blümchen)

= Elvis von Feuer-
wehrmann Sam – 
Elvis Presley

= Bibi und Tina –
Tina Turner 

= Willy Brandt –
Willy Wonka

= Michael Jordan – 
Michael Schumacher

= Joachim (Joko) 
Winterscheidt – 
Joachim Löw



Lösungen – Namenszwillinge – gleich und doch so verschieden

= Elton John – Elton

= Mario Götze – 
Super Mario

= Tom (und Jerry) – 
Tom Cruise

= Boris Becker – 
Boris Johnson

= Udo Lindenberg –
Udo Jürgens

= Astrid Lindgren – 
Astrid (Dragons)

= Justin Bieber – 
Justin Timberlake 




